(B 1MIBHKE®RE : 3E/F

XIZBER FR29F12H818H

= . HEZKE FTE_DOR KIETE M RETE s
&S RERE | B = 98 128 68 98 128 68 98 128 68 98 g | XEEF
1 —iBE |[E/mi] 0 0 0 0 0 0 0 0 0 0 0 0 100f8/m it
2 KBEHE = THRE | T8 | T8d | T84 | TRt | THRE | T8Y | &Y | T8d | TRE [ THRE | THEH |pasasnce
3 | ImEMAAL [mg/Pi] 54 7.3 5.7 5.4 5.9 5.7 55 5.7 5.7 5.6 6.4 5.7 |200me/ bl T
4 | OoxARIL | mg/?7]0.000002{0.000002 [0.000003]0.000002{0.000005]0.000004]0.000002|0.000003]0.000004]0.000002]0.000005{0.000004] 0.00001me/ 2251+
5 |e-FravRirt—n| mg/ 7 10.000001 5% % 0.000001 k% | 0.0000015k %] 0.000001 5k 7% | 0.000001 537 0.000001 % %] 0.000003 | 0.0000015k % | 0.000001 k%] 0.000002 | 0.000001 5% % | 0.000001 5k | 0.00001me/ 2 LT
6 |mmmeannzoo)| mg/ 7] 0.35%# | 0.35%# | 0.35%# | 0.35%&# | 0.3k # | 0.3 # | 0.3k # | 03K [ 0.3k | 0.3k [ 03 [ 0.3%k# |3me/LiUAT
7 pHIE — 7.7 7.6 8.0 7.7 7.6 7.9 7.8 7.6 7.9 7.8 7.6 79 [58its6uT
8 [ - |EELGLIEELGLIEEGLIEELGLIEELGLIEELLIEELLIZEELLIEELLIEELGLIEELRLIEELEL|E8thnce
9 EX - |EELGLIEELGLIEEGLIEELGLIEELGLIEELLIEELLIZEELLIEELLIEELGLIEELRLIEELGL|E8thnce
10 BE E ] 0.5%K % | 05K | 0.5k | 0.5 # | 0.5FK i | 0.5 | 0.5 # | 0.5FK# | 0.5Fk#H | 0.5K# | 0.5FK# | 0.5K#H | 5SELLT
11 A E 0.1k | 0.1k | 0.1k | 0.1K# | 0.1k | 0.1k | 0.1K# | 0.1k | 0.1FK#H | 0.1k | 0.1k | 0.1FKjH | 2ELLT




